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APPBIDIX ~ 3. Details of Oaloulations of-

i

I  Prediction of overmll degree of success, 1.e. PScE grant total‘perceut (y,) from SSCE Exglish (xl) and

SSCE Mathematics {x;)

2 2
. X XZ 7
X X 1 X o . X2 1 +*o 6
§
1 278 15889 ! 18758 .. 1320592 935211 1083758 11614
Xl 953211 1083758 TTOBTTTR 56072195 64277000 671646
x2 S 1520692 96530570 84277000 77087772 790514
xa - 7293835128 4R16816878 5695346842 57554592
2
xi . , 5441409147 3902881040 40160830
f 4619816878 47012551
278 15899 18758 1320582 935211 1083758 . 11514
1 57.1808474820 67 .,4748201439 4750.3309352518 5556 .8741007194 3898.4100719424 41.4172661871
23936.89568 10075 ,85453 15622€0,46045 2701258 .672608 2206178.26620 13152 .88489
1 4585320785 65,2857922454 112.8489553863 95.9263179694 »5494816481
. 49866.,55152 8707515.78044 . 7004.15760 2908524 .47748 14577.80122
Y1 134.5095168865 1.4066374245 58,5261602983 2923382668
e “¢ 16798565.25350 1021291..85777 4052155 .97019 39784,62398
1 0622793422 «2471041770 «Qa2426103953
E741382.61727 1376954.76779 2508.70253
1 +3680336679 0008705281948
5468713 .96541 3522.8765556
1 +0010154704

.

(D .. 0 = 0010154704
*1*2 L

Y bx"” + bxlxa (3680336679} = .ONOE705281942

J L P2 = 0002968009

¢

b
B+ P2 (0.22798422) + D
i *1

L bxg = L,0021566924
A

b

bx2 = =.0574029345

b+ b (.4585320785) + b
1 * x5 >
b = 3041404889 -

1
c+b

2
o = 12.569848.4682

= 2
Te=e 000296?009:: Y

%o {.247104177C) = .O0R426105953

2 (85.2657922454) « b o (112.8489553863) + b
. X,

x, (57 .1906474820)+bx2(e7.4748201459}+bx2(47so.3309552518)+bx§ (3556'87410q7194)+bx1x (3898 . 4100719424 ) =41, 417 2661871
2

+ Db
x, x: {154.5008168865) + bxi (1.4086574245) + bxs."z (58,3261602983) = 2923582665

{95.9263179694) = .54948164681

: 2
+O0LOLB4T Oy p¢- 001506924, + . 5041404885x, 0574029545, + 12.6064814682
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E
R
i

»0008705283.2

bxe + bxz (.0622793422) = .O0R426105953
1

b}é = JOUR5B4B4590

bxg + bxz_ {134.5003168865} + b 2 {1.4066574245) = (R0R3582663

1

B

b,,2 = - 0952159297

b . ,
%, * Py, (4585520785 + b , (65.2657922454) + b_p (112.8489553865) = 5494816451
)

» 2 1
b = (3516/194794
1 5
e + b (57.1906474820) + b, (67.4748201439) + b {4750.3300552518) + b2 {3356.8741007194) = 41.4172661871
T s 1 o P 2 1
e = 10.8516026512
(114) "e b .2 = +00242610585
2
b, +b, {(134.5093168865) = 2925582663
2 2"
« + b = -,03398531871
*2
b o+ b (.4585520785) + b .2 (65.2657922454) = .5494816481
. ’ 1 2 2
L Bx, = 4072799588
o +b (57.1°06474820) + ‘ox2(37.~1748201.439} +bp (4750.5300552518) = 41,41726618/1
1 ) 2

o = B.825{3012354
(iv) b = 292532663
%

bx1=bx2( +4565520785) + 5494816481

b = .4154351752
¢!

¢ + b, (57.1806474820) + b (67.4748201430) = 41.4172661871
1 2

¢ = -2,0672124626
{v) b,

.5494616481

c+b {57.1906474820) = 41.1172661871
1
¢ = 9,9920549358
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I Prediction of overall degree of success, i.e. P3cE grand totgl percent (ye)
from SSCE English (X ) and SSCE Mathematics (X,)

. 2 2 .
(i)  The fitted regression of ¥, on X, xz, X, X XX, is

y, = +3041404809%, ~ .0574029545X, + -0002968009K= + .0021566924X
+ J0010154704X %, + 12.6964514652

.+ Reg. S.8. = (,3041404889)(671646)-{.0574029345) (797514 ) +( .0002968009)
{40160830) +{ .0021566924) (57554392 +( ,0010154704) (47012551 )
+(12.6964814682) (11514)-(11514)°

. 278

488469.13 ~ 476878.40
11590.73

R 2 R
(ii)  The fitted regression on X, Xz, L, &' is

it

ye = .551:6419479}(1 - .02952159501{2 + .00067052821(;2.

+ 10.8518028651.
« « - Reg. 88. = (.3316419479)(671646)-(.0295213930) (797514)+
+{.0006705282) {40160830) +( . 0023843459) (57554392)
+(10.8516028651) (11514) - {1%%4)2

+.0023845459X§

= 488465.55 - 476878.40 -
= 11587.15

(111) The fitted regression on X, X, xg,

Y, = +4067279959X 1" .0559955187)[2 + .0024261040}{2 + 8,9262601235

. Reg. S.8. = (.4067279959){671646)~(.0339953187) (797514)
+{.0024261040) (57554392) +(8.9252601235) (11514)-(;;514-)2
: 278

= 488463.87 - 476878.40
. = 11585.47
(iv)  The fitbted regression on X, and X, is
Yo = -4154:35175211 + +292338R665%9 - 2.0872124183

Reg. S.8. = (.41545517523{671646%{.2923382265}(79?51@
-{2.0672124163)(11514) -{11514)

= 488367 .35 - 476878.40 278
= 11488.85

{v) The fitted regression of y_on X, is
i Ye = .54:9481648&1 + 9.9928549553

Reg. 8.8. = (,5404816481)(671646)+(9.9920549358) (nsm}-im;_@z
_ 278 )

is

=484105.67 - 476878.40
=7R27.21



